Fisica Mecanica, AS2 - Respostas

Questao 1 Questao 2 |Questao 3 Questao 4 Questao 5

a (ms/2)[Sentidode B| P (W) P (W) k (N/m) v (m/s) X cm ycm
0 0,22 descendo | 5,02E+04 58,8 5,20E+03 6,58 59,6 8,38
1 0,93 descendo | 6,28E+04 86,2 7,69E+03 6,93 74,3 7,71
2 1,43 descendo | 7,68E+04 117,6 1,06E+04 7,27 88,6 7,10
3 1,81 descendo | 9,25E+04 152,9 1,39E+04 7,60 102,6 6,55
4 2,11 descendo | 1,10E+05 192,1 1,76E+04 7,92 116,2 6,03
5 2,35 descendo | 1,30E+05 | 235,2 | 2,17E+04 8,24 129,3 5,55
6 2,54 descendo | 1,53E+05 282,2 2,63E+04 8,54 141,8 5,09
7 2,70 descendo | 1,79E+05 333,2 3,13E+04 8,85 153,7 4,66
8 2,84 descendo | 2,10E+05 388,1 3,68E+04 9,14 164,9 4,25
9 2,95 descendo | 2,47E+05 446,9 | 4,27E+04 9,43 175,2 3,86




